
CLICKER REVIEW
Evolution 2
1. What is an individual that has more than two chromosome sets, all derived from a single species called?

A
homologous

B
polyploid

C
allopatric

D
sympatric
2.
The distinction between secondary sex characteristics in genders of organisms is known as

A
sexual genospecies

B
male and female oriented phenotypes

C
artificial selection

D
sexual dimorphism

E
natural selection
3.
Species breeding during different times of the day, different seasons, or different years is an example 
   of what type of pre-zygotic barrier?

A
habitat isolation

B
behavioral isolation

C
temporal isolation

D
mechanical isolation

E
gametic isolation
4.
In the Hardy-Weinberg equation, what does p2 represent?

A
dominant allele frequency

B
recessive allele frequency

C
homozygous dominant genotype frequency

D
heterozygous genotype frequency

E
homozygous recessive genotype frequency
5. What happens in the Bottleneck Effect?

A
certain alleles are over represented due to chance

B
recessive alleles are masked

C
heterozygous alleles disappear

D
few individuals colonize an isolated area

E
none of the above
6.
What prevents the hybrid zygote (created by two separate species) from developing into a viable, 
   fertile adult?

A
gamete isolation

B
habitat isolation

C
prezygotic barriers

D
postzygotic barriers

E
mechanical isolation
7.
 If white color (B) is dominant over black (b) and 36% of the pigs in a population are black. What is the frequency of the dominant allele?

A
0.8

B
0.6

C
0.4

D
0.36
8
Migration results in

A
Founder Effect

B
Gene flow

C
Mutations

D
Nonrandom mating

E
Natural selection
9.
Which of the following is a characteristic of macroevolution?

A
speciation

B
way of evaluating evolution

C
smallest form of evolution

D
concept of classifying organism

E
technique scientists use to determine frequencies of alleles
10. Similar structures from the same embryonic origin like a bird wing and a human arm are called

A
vestigial organs

B
homologous structures

C
genetic hybrids

D
allopatric partners

E
directional selectors
11. What Darwin called natural selection?

A
artificial selection

B
genetic variation

C
survival of the fittest

D
bottleneck effect

E
behavioral isolation
12. Which of the following is the best example of gene flow?

A
A polyploidy plant develops.

B
Genes are shuffled by crossing over.

C
Earthquake creates canyon, splitting a population.

D
Wind blows pollen from one population of plants to another.

E
All mutations in a population are neutral.
13. All of the following influenced Darwin's theory of evolution EXCEPT

A
Hutton

B
Cuvier

C
Mendel

D
Lamarck

E
Malthus
14. In punctuated equilibrium

A
allele frequencies change slowly

B
change happens rapidly followed by long periods of stability

C
species are fixed

D
bottlenecks can't occur

E
polyploidy can increase interspecies mating

15
Pre-zygotic barrier in which reproductive parts of different species are mismatched and unable to 
         fit together

A
gametic isolation

B
habitat isolation

C
behavioral isolation

D
mechanical isolation

E
hybrid vigor
16. The smallest unit that can evolve is a

A
individual organism

B
genotype

C
gene

D
population

E
morph
17.  Members of the same population

A
share a common gene pool

B
cannot interbreed under natural conditions

C
share the same genotype

D
are in reproductive isolation from one another

E
none of the above
18. Which of the following conditions is NOT required for Hardy-Weinberg equilibrium?

A
a large population

B
no migration of alleles in or out of the population

C
no mutations altering the gene pool

D
sexual selection

E
random mating

19 Who prompted Darwin to publish his book by coming up with similar ideas on evolution?

A
Lamarck

B
Lyell

C
Cuvier

D
Wallace

E
Malthus
20. If an earthquake hit a small island so that all but a tiny group of lizards were eliminated and survivors 
     spread out over the island, this would be an instance of ___.

A
founder effect

B
bottleneck effect

C
gene flow

D
mutation

E
nonrandom mating
21. Natural selection is sometimes described as survival of the fittest.  Which of the following most 
     accurately measures an organism's fitness?

A
how strong it is when pitted against other of its species

B
its mutation rate

C
how many fertile offspring it produces

D
its ability to withstand environmental extremes

E
how much food it is able to make or obtain
22 Which of the following increases the likelihood that a deleterious recessive allele will be maintained in the 
    gene pool of a population?

A
polyploidy

B
death of homozygous recessive individuals

C
heterozygote advantage

D
genetic drift

E
interspecies mating
23 The ultimate source of all genetic variation is/are

A
natural selection

B
genetic drift

C
sexual recombination

D
the environment

E
mutations
24. For which one of the following groups would the biological definition of species be LEAST useful?

A
elephants

B
pine trees

C
mosses

D
mushrooms

E
asexually reproducing organisms

25. Individuals of different species living in the same area may be prevented from interbreeding by 
     responding to different mating dances.  This is called___.

A
behavioral isolation

B
temporal isolation

C
hybrid isolation

D
mechanical isolation

E
habitat isolation

26
All of the following are parts of Darwin's theory of Evolution EXCEPT

A
natural variation

B
overpopulation

C
descent with modification

D
survival of the fittest

E
inheritance of acquired characteristics

27
Pattern of selection in which organisms with characteristics at the extremes in a population

have less fitness than those in the middle.

A
directional selection

B
stabilizing selection

C
disruptive selection

D
sexual selection

28
Whales, dolphins, and sharks all have similar body shapes and fins/flippers. This is an example of

A
coevolution

B
divergent evolution

C
convergent evolution

D
sympatric speciation

29. Which of the following occurred earliest in the fossil record?

A
mammals

B
reptiles

C
birds

D
amphibians

E
fish
30
All of the following are homologous structures EXCEPT

A
a human arm

B
a bat wing

C
a penguin flipper

D
a butterfly wing

E
a bird wing

Answer Key :
Evolution 2

Question:
Answer

1
B

2
D

3
C

4
C

5
A

6
D

7
B

8
B

9
A

10
B

11
C

12
D

13
C

14
B

15
D

16
D

17
A

18
D

19
D

20
B

21
C

22
C

23
E

24
E

25
A

26
E

27
B

28
C

29
E

30
D
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